Limplicity

Adapter Kit for

FOR 42” ROTARY MOWER

Mfr’s. No.458

%0/

12345678910

Ref. Part
Let, No. Description
A 123054 Collector Side Housing Assembly
B 123059 Front Baffle
C 703003 Carriage Bolt, 3/8"-16 x 1" 1g.
D 703002 Carriage Bolt, 3/8"-16 x 1-1/4" 1g.
E 153081 Spacer
F 157169 Washer
G 720002 Lock Washer, 3/8"
H 717003 Nut, Hex, Full, 3/8"-16
J 123060 Nut Assembly
K 703003 Carriage Bolt, 3/8"-16 x 1" 1g,
L 720002 Lock Washer, 3/8"
M 717003 Nut, Hex, Full, 3/8"-16
N 123062 Baffle
P 714005 Screw, Self Tapping, #10-24 x 1/2" lg.
Q 105115 "V'"' Belt

SIMPLICITY MANUFACTURING COMPANY, INC.

PRINTED IN USA.




